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11/14/23

R-a301

FINAL | X-IA

Approximate quantities only. Fine grading, clearing and grubbing,
removal of existing pavement, and shoulder borrow will be paid for at
the lump sum price for "Grading".

NOTE: EMBANKMENT COLUMN DOES NOT INCLUDE BACKFILL FOR UNDERCUT

STATE OF NORTH CAROLINA

DIVISION OF HIGHWAYS

CROSS-SECTION SUMMARY

Note: Quantities are approximate only. The Resident Engineer will
use methods including but not limited to recross-sectioning, truck
measurements, and aerial surveys to compute the final quantities for
which the contractor will be paid.

NORTH CAROLINA
DEPARTMENT OF TRANSPORTATION
SURRY COUNTY

S

ROADWAY DESIGN UNIT

PREPARED BY

Station Uncl. Exc. Embt. Station Uncl. Exc. Embt. Station Uncl. Exc. Embt. Station Uncl. Exc. Embt. Station Uncl. Exc. Embt. Station Uncl. Exc. Embt. KISINGER CAMPQ
Phase 1 (cu. yd.) (cu. yd.) Phase 2 (cu. yd.) (cu. yd.) Phase 2 (cu. yd.) (cu. yd.) Phase 2 (cu. yd.) (cu. yd.) Phase 3 (cu. yd.) (cu. yd.) Phase 3 (cu. yd.) (cu. yd.)
EL1 (L TEMP) e e Y2_DET2 e e L2 (LT) e e DRWA e e L1 (RT) e e Y2 e e o et Serects
Raleigh, NC 27601
10+00 0 o 10+00 0 0 20+50 6 2 11+25 14 8 17+00 204 17 10+00 0 0 (o19)882-78%9
10+50 2 1 10+50 0 255 11450 19 0 17+50 33 133 10+50 0 0
11+00 4 46 11+00 309 209|  Sstation Uncl. Exc Embt 11475 6 0 18+00 0 197 11+00 135 100
11450 3 30 11+50 656 13 P'::; 2 (cu. yd.) (cu. yd.) 18+50 0 0 11+50 691 22
12+00 3 39 12+00 408 0 Station 11+75 423 0
12+50 3 91 12+50 84 16 10+00 0 o/ Phase2 tnel. Bxc. Embt.
+ + + i
DRW2 (cu. yd.) (cu. yd.) Station Uncl. Exc. Embt.
13+00 4 104 13+00 1 121 10+50 124 131 Phase 3 Station
L2 (RT) (cu. yd.) (cu. yd.) Uncl. Exc. Embt.
13+50 10 % 13+50 1 83 11+00 3 248 10+00 0 Phase 3 (cu. yd.) (cu. yd.)
14+00 12 110 14+00 0 6 11413 0 86 10+25 23 10+00 0 0 DRW4
14+50 15 64 14+50 0 0 10+50 60 10+50 0 0 10+00 0 0
15+00 35 4 15+00 0 0 13+03 0 0 10475 23 3 11+00 26 137 10+25 140 0
15+50 67 5 13+50 32 104 11+00 43 0 11+50 145 264 10+50 218 0
16+00 207 13| Station Uncl. Exc Embt 13+90 227 84 11425 39 0 12+00 44 111 10475 107 0
16+50 320 21| Phase2 (cu. yd.) (cu. yd.) 11+50 10 0 12+50 43 73 11+00 40 3
17+00 255 66 L1(Ln Station Unel. Ex Embt 13+00 10 74 11425 0 0
17+50 80 63 12+00 0 o Phase2 " d ¥ d Station 13+50 3 33
Y1 (cu. yd.) (cu. yd.) Phase 2 Uncl. Exc. Embt.
18+00 1 10 12+50 385 0 ase (cu. yd.) (cu. yd.) 14+00 3 11 Station Unel. Exc Embt
18+50 29 68 13+00 647 0 14+60 0 0 DRW3 14+50 4 11]  Phase3 (cu. yd.) (cu. yd.)
19+00 142 64 13+50 994 5 15+00 244 0 10+00 0 0 15+00 105 36 DRWS
19+50 136 34 14+00 758 7 15+50 515 0 10+25 19 0 15+50 136 41 10+00 0 0
20+00 142 11 14+50 49 1 16+00 795 0 10+50 77 0 16+00 155 40 10+25 44 0
20+50 119 16 15+00 47 ) 16+50 1279 0 10475 46 0 16+50 187 38 10+50 18 0
21+00 65 20 15+50 2 9 17+00 786 0 17+00 224 41 10+75 0 0
21+50 21 15 16+00 8 70 17+50 0 0| station 17+50 207 45
22+00 6 o] 16+50 0 73] 18+00 0 o| Phase2 tnel. Bxc. Empt. 18+00 195 4p|  Station
+ + + +
DRWS (cu.yd) (cu. yd) Phase 4 Uncl. Exc. Embt.
22+50 0 1 17+00 0 95 18+50 193 36| v2 (Det (cu. yd.) (cu. yd.)
17+50 7 188|  Station 10+00 0 19+00 186 27| Removal)
) Phase 2 Uncl. Exc. Embt.
Station Uncl. Exc. Embt. 18+00 51 251 2 (cu. yd.) (cu. yd.) 10+25 0 19+50 185 22 10+00 0 0
Phase 1 (cu. yd.) (cu. yd.) 10+50 79 2 20+00 145 17 10+50 0 0
Y2_DET Station Uncl. Exc Embt 11475 0 0 10475 120 0 20+50 2 1 11+00 353 0
10+00 0 o] Phase2 (cu. yd.) (cu. yd.) 12+00 460 0 11+00 0 0 11+50 41 0
10+50 0 0 L2(LT) 12+50 951 0 Station 12+00 11 0
i Phase 3 Uncl. Exc. Embt. 12450 18 0
11+00 107 25 10+00 0 0 13+00 837 o/ station Uncl. Exc. Emb. (cu. yd.) (cu. yd.)
11+50 81 10 10+50 0 0 13+50 666 o Phase3 (cu. yd.) (cu. yd.) RAB 13+00 62 0
12+00 100 16 11+00 2 39 14+00 406 o UYRD 11+13 0 0 13+50 203 0
12+50 87 23 11450 4 55 14+50 211 0 10+00 0 0 11450 0 333 14+00 120 0
13+00 37 26 12+00 79 30 15+00 193 1 10+50 0 0 12+00 5 402 14+50 93 0
13+50 1 72 12+50 209 31 15+50 151 4 11+00 0 0 12+50 125 240 15+00 69 0 9
14+00 12 34 13+00 174 35 16+00 83 7 11+50 0 0 13+00 2 288 15+50 47 0 S
14+50 20 10 13+50 132 38 16+50 53 8 12400 0 0 13+03 0 8 16+00 50 0 é’
15+00 50 8 14+00 51 35 17+00 36 17 12+50 2 6 16+50 56 0 B
15+50 54 8 14+50 11 33 17+50 5 9 13+00 2 20| station 17+00 28 4
Uncl. Exc. Embt.
16+00 35 33 15+00 7 38 18+00 8 8 13+50 0 32|  Phase3 17450 30 10
Y1 (cu. yd.) (cu. yd.)
16+50 49 31 15+50 5 39 18+50 2 3 18+00 37 14
17+00 115 4 16+00 4 36 Station 12+30 0 18+50 22 4
17+50 127 4 16+50 2 76 Phase 3 tnel. Bxc. Embt. 12+50 9 0 19+00 12 0
+ + i + +
|:’S':atlonz Uncl. Exc. Embt. L1 (RT) (cu. yd.) (cu. yd.)
18+00 68 ) 17+00 2 91 ase 13+00 26 0 19+50 0 0
DRWA1 (cu. yd.) (cu. yd.)
18+50 28 16 17+50 2 67 14+00 0 35 13+50 54 14
19+00 13 14 18+00 5 36 10+00 0 14+50 0 40 14+00 137 47
19+50 0 2 18+50 7 48 10+25 3 15+00 0 65 14+50 159
20+00 1 0 19+00 5 50 10+50 1 20 15+50 0 97 14+60 69
19+50 16 19 10+75 50 12 16+00 147 147
20+00 31 7 11400 37 21 16+50 216 151
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